Adv Algebra — Ch 8 and 9 Cumulative Review
Name )<E Y

Period

For each of the following problems, show work or receive no credit.

1. A new car that sells for $25,000@ 15% each year.

a) Write a model for the value v of the car after t years.

1 V()= 25,000( | st
v(£)= 2s000( .25 O

b) What is the value of the car after 10 years?

or 1 1, A H921. 86
v(20)= 25000( .85 )

2. If you deposit

.4
a principal amount of $1000 in an account that 2. | \ ¥22.)2Q
is compounde

at an annual rate of 3%, how
much money would you have after 20 years?

o (.03 x20)
A = PQJL > 000 e e

Write an exponential function of the form y = ab* that contains
the points (- 2,16) and (3%) y=a- L

x Ve b L I

y:&t-b )/ ngg 22 "'-Jbs—
- - = .

=&+ b - L

+ S5 a= Yy
L:\. ]LO - R = /33 Q
B S T B
Write |0%3 in exponential form. 4. A = g
wm 3
loump 2 ~ g

2
Write the following as a single logarithm: 5. |
2 logox — 3 logay + 5 log,z

4.

5.

‘Ojaxa“ |<>_7273+ loj;{zS
loj;%

s | S s
Igj:zz‘ = 953_754'-2—

3
Expand the following logarithm: log Z\/Zy 6. |0<f’ Z +
X —

I?j Zyé — log x”

]%Z+_—%(?jy— Q\gjx
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L
7. Evaluate the following logarithm: log, 1 _

- =Y

£
2 =5
! |
3 é—q— X:—L“

For questions 8 — 11, solve the equation. Round to two decimal places if necessary.

8. logs46x = 5 8. _X= 48
Eeudr"-l-( 'n Los - ( o
EXPDV\:V\J—MJ TG ‘
orw
Ay
9. 92“3‘&4(:21 S - 2 9. X~ 2.1Y4
— -q @) l—‘)'+ = >x—
o 09,13, T 5F
C[ = lq" (IOjﬁl?'-)-'-E =_%>5,
Eewn-vzas _ 2
—‘%—‘—t+ 2
log 4 ~
x+1 \ o — X = -30]
10 3e 4’\;21 _\jg 3 10.

1. -\1\—(2|nx3=—_1 ' 1.
2Rlnx =25 £
- —2 X—

X=)2. 18

=
=X
\Ojt ) % mi &~ ¢

12. The pressure of a gas P, in atmospheres, variewith the gas’s volume V, in liters, an

with the gas’s temperature, T, in Kelvins. The gas has a pressure of 5 atmospheres if it has a volume
of 20 liters and a temperature of 300 Kelvins.

_ 3 T T
p— or =y7
a) Write a model for this variation. 12a. 3V
KT
Pe KL (558
V )s—
b) Find the pressure of the gas if it has a temperature of 120. P= 2.5 adm DJpLey-g;

450 Kelvins and a volume of 60 liters.

—_—

_ T _ (9so) Yso _
P“ IV T ?(@—m: 1 80O —
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Graph each function. State the domain, range, and asymptote(s). Sh0\7/lv at least three points and the
asymptote(s) in the graph. . zlog < s =
Farevd- /71401-"%0.;\4,' Sh:fs Lefr 2 y’}{% 2=
m,
P Doggain: (‘ 2, 50)

13. +2)— L) Vertical Shify Down !

Rar\}ge: (— b DO)

Asymptote: X=-2

rﬂ ¢ . L .F‘ lz N ] |
|4 1 /7””'%07\ l S[’" g +
| y Z‘@ V v l :'F‘f- U” 2 >‘E n: ( b )

Ra/npe: (‘005 ;?>

symptote: Y= &2
.................... Trans fFor matione:

= . T vl ®O Reflecr over x-axr's
i Fo .78 @ vcr-l-iu\' SHeein I ‘L)/ "LJT
R N | Ferls ® Horiz. Sk & Riowr |
RS SR 1 @ Versienl Shofr UP 3

Domain: (’OC’)‘1> U ("300)
Range: (—oo)—,Q)U(fapo)

Horizontal asymptote: )/ = -2

Vertical asymptote: X =-1
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For questions 16 — 17, solve the equatlons Checl:/each solution.
ks, solve... clear ont +he enpm vetor _ i
16.20<1) 3x 6)'/;><(a<+;) Lep: 16. X = 3 X = A
(x+1§ 2x  x Rex e+1) A
) C\,-\eck Gnswer S
BX‘QX@) s Ls'ix(x-n) 3 e RECea1) For exdvaneousr Solutions
(41 2Ax - *
| ) /
bxz 4 L(x+ |> = |"|(><4 l)
xXs b+l = ) Y
% th:jH ”E\it\’\*
[Dxa- Rx — 4 < Q
2(3)&- U - L{) = 0O
2(3x+ 23()0- 2)= 0
¥ \y
3><+—'2=E>2 X-2=7
e :?" X=2
7. Xz 91 x= -S

PRoPorz-r.‘c)N .l.l.l

17. ' Q’@
(x5 P x D

x(x-1) = (ax+2)(x-5)

A>C\.—\QCI< Gwnswers |

Lor exdraneousr Solutione

XTo < = D\x:‘ JOx + Zx -35"
- 3 25
X7 ol
O= X - Qx - 38
6= <>< - <+ 5)
> A\
X= 7 X=-5
, Sx-2
18. Simplify 3;( +X_2+ 2x . State any restrictions on the 18. A
X +3x+2 Xx+2
variable.
[ Restrictions: X £ - 2.1 O
(3>< - 2Y></4/|> . AL X ’
'-‘ x . I
(x-‘- 1)(%) (x4 2) Checdle a:{f dendmivators.
\ \ N
XZ£-2 X ==l X -2

(3>< 20 (5/:0
><//> A,
XZ 0
(3><—2>

25
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For questions 19 — 20, simplify completely.
Mu\s.L ‘/\ﬁue a cormmwiaown

19. 5x -1 6 O{f,r\ovvxivm-l-or,I 19.
x?> +2x-8 6(+4)
(X-l—'-'l)(x—,’l)
Sx-1| _ G . Cx__;o
(x+W)(x-2) (s (x-2)
Sx-1 “b(x-2)

(x+1)(x-2) " (x+ ) (x-2)

(x+)(x-2)

—x+ 1
(<2 (x-2)

o -(x-1)
x+4)(x-2)

2

2 4y x 2 Yx* 2-Hx

20 X X x X = vad 20.
T T o
x* x? x?

/ 5
> 2- fo: . %
/’( Y

x4+

(x2+ 1) (x-2)

Xg(l-;lx;‘)

Z>><’(2—H>f‘) L R(-23) : < (1-2:7)

L a

2

XK

2 4
or X — Qx>
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